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Hu: saEetol 25
CHol: EAFEIAIY XX (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AMEA 10,753,653 9,916,392 837,261
= 567,090
== 2,025,660
[Ea 8,160,903
ShNsEAE 2ot 4,568,580 8,326,180 A3,757,600
= 1,723,000
Ea 2,845,580
SN = 248,180 248,180 0
SAMEANY X 248,180 248,180 0
201 fet=23y| 50,000 30,000 20,000
01 Al 22| 50,000 30,000 20,000
OB2AE 27 L8l
30,000,000& 30,000
OaAIY & SZ2AE XA AEZds A3s
20,000,000 20,000
202 04l 13,680 13,680
01 =LHNHI 13,680 13,680
OdAIY &= AR 0]
13,680,000 13,680
203 =4l 4,500 4,500
03 A=A 2= 4,500 4,500
OSAIMSAIY AIFT 2SH|
4,500,000 4,500
207 ARl 150,000 150,000
01 H1E4H] 150,000 150,000
OBSZTEANY U DHLDETR(PUOL)
150,000,000 150,000
401 Al HIZ S 0HbI 30,000 50,000 /20,000
01 AlZ2H| 30,000 50,000 /20,000
OHSBDNY L PHALEFZ(PO0L)
30,000,000& 30,000
Al ZAY = 4,320,400 8,078,000 A3,757,600
S 1,723,000
= 2,597,400
AOEEAEl BEIXAE (SOHREXIR) 450,000 0 450,000
308 AtXIEMSOIH 450,000 0 450,000
11 SIS0t A AS A 450,000 0 450,000
OADIEAIEl ZelXIAFY X3
450,000,000 450,000
4 JPAKE HEWSs2 234 A2 A 100,000 0 100,000
308 AtXIEMSOIE 100,000 0 100,000
1 S| 2SH U B XA AIE 100,000 0 100,000
O%4 JASHE HEgus2 238 X2
100,000,000 100,000
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I INESE

Hu: saEetol 25

Rl MEFY =2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot01I2ZHIGIE(W) ¥ SEMS tiEel ™ d EOL| 304,400 0 304,400
o AE(2INENR)

308 AHXIEMSOIE 304,400 304,400
1 SIS0t EAS A 304,400 304,400
ODOITRHIZIZ(N) 2 SBHES BiE2) o

dd EJpIgt 2= 304,400,000 304,400
Mot ZAX RN A (SHEFZRIY) 1,416,000 0 1,416,000
== 708,000
[Ea 708,000
402 2I2E X201 & 1,416,000 0 1,416,000
< 708,000
s 708,000
02 QI X2 AL EE(0IETHE) 1,416,000 0 1,416,000
O%atea HAKIRAME A XS
1,416,000,000& 1,416,000
= 708,000
Ea 708,000
=8 HEE 434l 2= 2,000,000 0 2,000,000
== 1,000,000
o 1,000,000
402 2I2E X201 & 2,000,000 0 2,000,000
< 1,000,000
= 1,000,000
02 QI X2 AL EE(OIHTHE) 2,000,000 0 2,000,000
O2=8 HeZ 434y 5 A&
2,000,000,000& 2,000,000
= 1,000,000
Ea 1,000,000
HAMH STME W XA 50,000 0 50,000
== 15,000
o 35,000
308 AXIHMSO0IA 50,000 0 50,000
[ 15,000
T 35,000
11 SIS0t 4 A A A 50,000 0 50,000
OHSHA STMS W XA
50,000,000 50,000
= 15,000
o 35,000
SEfAIY 2dat 4,360,920 110,920 4,250,000
= 500,000
s 3,860,920
SEAIS 4,360,920 110,920 4,250,000
= 500,000




FA: SHolEEA
mu: meAlY BAS)
CHol: FMSAIY CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 3,860,920
SAEAAE SIXH 10,920 10,920
201 fet=23y| 1,800 1,800
01 AtR2tc|HI 1,800 1,800
OEIHAUZA(XF)E s RY3
1,000, 0002 1,000
OHATANAAIY Z8 Lty
800,000 800
202 04l 9.120 9.120
01 =LHNHI 9,120 9,120
OSTAl 22 o 9,120,000& 9,120
TEAY = 3,600,000 100,000 3,500,000
401 Al HIZ R 0HbI 3,600,000 0 3,600,000
01 AlZ8| 3,600,000 0 3,600,000
O34 AEXT SSAIE A2 Y
3,600,000,000& 3,600,000
SSSEUCA(SEXE) 0 Hd 750,000 0 750,000
= 500,000
= 250,000
308 AIXIHHSOIA 750,000 0 750,000
= 500,000
Ea 250,000
12 IJIEetF8=s 750,000 0 750,000
OSS8UEA SHEZ XNSSHAE
750,000,000 750,000
= 500,000
o 250,000
gotatel 59,800 59,800 0
gt - g =d 59,800 59,800 0
=8t 59,800 59,800 0
201 Let=Ehl 800 800 0
01 AtR2t2|HI 800 800 0
Ogltze| Let+=24| 800,000& 800
207 AR 40,000 40,000 0
01 H7ESHI 40,000 40,000 0
O8dzd FYREI E
40,000,000& %12 40,000
303 Z&a= 19,000 19,000
01 Za= 19,000 19,000
OSH2H 2RI L42N MY 4,000
x| 500,000 x50 2 A 2,500
< = 300,000 54 2 A 1,500
O2023E (224 AF) AZSEEI Ala=
15,000,000 15,000
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Hm: 07 o HE I
el el EE = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
el & Fd g 981,976 584,960 397,016
= 67,090
= 26,840
= 888,046
ey =& 298,760 312,760 214,000
QIASIIAIZ =& 298,760 312,760 214,000
201 er2 3| 8,000 16,000 /8,000
01 AtR2telHl 8,000 16,000 /8,000
Ool8d 2l E2= MH
8,000,000 8,000
202 04| 5,760 5,760
01 =LHOLI 5,760 5,760
Ogelgs JR=X 04|
5,760,000& 5,760
301 LEtE NS 285,000 291,000 26,000
14 IIEt2d3 285,000 291,000 26,000
OXANU X2 (SHH=HOI)
50,0002 *3, 000A!I CH 150,000
o&Y X&E=s X= 120,000
-dgstd NS (=,8,10)
100,000& 200 20,000
-Sstd X2=
100,000 x200H <22 40,000
JISHAES A NE=S
200,000 *300H 60,000
O3 3SK 2613 N
300,000& *»50H 15,000
gy =8 683,216 272,200 411,016
= 67,090
[ 26,840
Ea 589,286
B HE=E N3AMY 20,000 0 20,000
308 XtXIEMSO0IE 20,000 20,000
11 SIS0t 4 A A A 20,000 20,000
OFYH Bf=g NN
20,000,000& 20,000
FHEY NZA 203,000 0 203,000
308 AHAIEMSOIE 203,000 203,000
11 S 2S0UeZBSHASAIE 203,000 203,000
O34 g XA 203,000,000 203,000
BN 29 326,036 0 326,036
201 =3 32,500 32,500
01 At22t2l] 32,500 32,500




FA: SHolEEA
Hu: ooln o HiE A
el 3EEE =0 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHGENME AUXHAY 248 =
2,500,000& 2,500
OFEXAHH 2 gXtz
30,000,000 30,000
308 AXIHMSO0IA 228,786 228,786
11 SI2S0 e YA AS A 228,786 228,786
OFEXIJHE 24| 228,786,000 228,786
401 Al HIZL 01| 35,000 35,000
01 Al&H| 35,000 35,000
OFIXNAHE cl2&d Al X SAI
35,000,000& 35,000
405 AtatE = 9,750 9,750
01 ML ESFSHI 9,750 9,750
dy¥) 2 750,000 1CH 750
OARI1I1 & J17 2e 9,000
-ARE By Y 300,0002 304 900
N2 E 2kt 2L 200,000 *3H 600
-B=H ¢ 1,500,000 *3CH 4,500
-2LIH 7 300,000 *3CH 900
-AMRE EXNE 7Y 300,000 *«3H 900
AR E IR FY 400,000 *3H 1,200
406 JIEFAHZ0l1A 20,000 20,000
01 JIetA=01d 20,000 20,000
OFEXAHME SUIAHS ES=
20,000,000 20,000
HEEN XZ A 134,180 250,200 /116,020
= 67,090
= 26,840
o 40,250
301 EetE2 N = 134,180 250,200 /116,020
= 67,090
= 26,840
o 40,250
4Bt 2 a3 134,180 250,200 /116,020
O=E% UM StAl XIEAE
134,180,000 134,180
= 67,090
= 26,840
= 40,250
SNE 3 755,640 808,040 A52,400
== 275,820
= 479,820
4 & 755,640 808,040 A52,400
= 275,820
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